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QUESTION 1

When Address Resolution is enabled in the Log Viewer, which machine is responsible for performing the DNS
Lookups? 

A. IDP Sensor 

B. WHOIS Servers 

C. IDP User Interface 

D. IDP Management Server 

Correct Answer: B 

 

 

QUESTION 2

What should you do to purge logs for certain days from your IDP Management Server? 

A. purge the logs from the IDP User Interface 
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B. Logs cannot be purged until the disk is full. 

C. Purge the logs manually from the CLI of each IDP Sensor 

D. Purge the logs manually from the CLI of the IDP Management Server 

Correct Answer: A 

 

QUESTION 3

What is "a deviation from a protocol\\'s expected behavior or packet format"? 

A. context 

B. compound attack object 

C. attack signature 

D. protocol anomaly 

Correct Answer: D 

 

QUESTION 4

When creating a new signature-based attack object, which four components must be specified? (Choose four.) 

A. target platform 

B. IP header values 

C. time binding 

D. service binding 

E. context 

F. attack pattern 

Correct Answer: ADEF 

 

QUESTION 5

Which account do you use to login when connecting to a sensor using SSL? 

A. super 

B. netscreen 

C. admin 

D. root 
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Correct Answer: D 
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